GFAPVoIByTHVol Tuj1VolByNucVol THVoIByTuj1Vol THVolByNucVol GFAPVolByNucVol

0.5 10 1.0 04

0.4 0.3

0.3 2
5 0.5 0.2

02 ; -

0.1 =~ _ - :_ - - 0.1

0.0 L) L) L) L) L) L) 0 L) L) L) L) L) L) 0.0 L) L) L) L) L) L) 0 L) L) L) L) L) L) 0.0 L) L) L) L) L) L)

Un 0.1nM 1nM 10nM 100nM 1uM Un 0.1nM 1nM 10nM 100nM 1uM Un 0.1nM 1nM 10nM 100nM 1uM Un 0.1nM 1nM 10nM 100nM 1uM Un 0.1nM 1nM  10nM 100nM 1uM
Controls_Patient I I II Controls_Patient I I Controls_Patient I I Controls_Patient Controls_Patient
Controls_Controls Controls_Controls I Controls_Controls I I Controls_Controls I Controls_Controls II I
Patient_Patient I Patient_Patient II I Patient_Patient I Patient_Patient Patient_Patient I
THVol NucVol GFAPVol

200000 120000 20000

150000 15000
80000

100000 = 10000
40000

50000 - 5000

0 =G4 o 0y —r———4
Un 0.1nM 1nM 10nM 100nM 1uM Un 0.1nM 1nM 10nM 100nM 1uM Un 0.1nM 1nM 10nM 100nM 1uM

Controls_Patient

Controls_Controls

Patient_Patient

Controls_Patient Controls_Patient

Controls_Controls I

Patient_Patient I

Controls_Controls I

Patient_Patient I

Tuj1Vol

4e+05
3e+05
2e+05
1e+05

0e+00 T T T T T
Un 0.1nM 1nM 10nM 100nM 1uM

Controls_Patient

Controls_Controls

Patient_Patient

Category

= Controls
= Patient



